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FEE M| T ER | aammmnn SABmEE] saranan] RATHRR RESE A EE|ERRe e EEELEE IR RE [sxmstgE] s ases] EEE
m/s m/s m/s °C % mm MJ MJ hPa % % %

3 £l 1.3|REHR 85.3 0 0 0 0 0 1023.4 65.3
EEY 2l 1.1|FEFEPE 87.1 0 0 0 0 0 1023.3 65.6
E3E 2l 1.3|Fmaea 88.1 0 0 0 0 0 1023.2 65.9
3 EL 22| FER 88.8 0 0 0 0 0 1023.4 66.2
3 EEY 16| 89.1 0 0 0 0 0 1024 66.5
EEY HER 1.7[F% 89.4 0 0 0 0 0 1024.4 66.8
R R £l 21|FE®E 88.1 0 0 0.2 0.2 0.15 1025 67.1
HER HER HES:ES 79.8 0 0 0.9 1 0.69 1025.4 67.3
EEY FmR 22|FEE 714 0 0 1 2 1.46 1025.3 67.4
fEalca HER PRIES:ES 59.9 0 0 1 3 2.11 1025.1 67.3
=it=mE B[] EEA 1 50.4 0 0 1 4 2.51 1024.9 67.1
=itE = = 48.1 0 0 1 5 2.67 1024.2 66.8
= E[AE E[AE 438 0 0 1 6 2.6 1023.6 66.5
dedt=E dbdtE dbdtE 4438 0 0 1 7 2.27 1023.5 66.2
RILE JtE it 46.2 0 0 1 8 1.75 1023.7 65.9
E[AE = dbdtE 415 0 0 1 9 1.07 1024 65.5
PRI R E[AE E[AE 57 0 0 7 9.7 0.34 1024.5 65.4
ki et Earh 63.8 0 0 0 9.7 0 1025.1 65.4
E[4 i i 64.4 0 0 0 9.7 0 1025.8 65.4
et Jb 8 i} 778 0 0 0 9.7 0 1026 65.6
o] Fitear] ki 81 0 0 0 9.7 0 1026.3 65.8
FiE ] Ed EEA 80.6 0 0 0 9.7 0 1026.5 66
EE LA i} 85.3 0 0 0 9.7 0 1026.6 66.3
EEd 2] EEd 86.3 0 0 0 9.7 0 1026.3 66.6
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m/s m/s % MJ MJ hPa %

Fiy 70.8 1024.7 66.2

xE GEY JbdbE dedtE 89.7 1026.6 675

FolEs 5:51 23:22 9:04

=IE 37.2 1023.1 65

ol 16:28 3:34 0:01

g 9.7 17.62

BLEISERE (%)
[ dtde dE [ FEEER] T | FER| @R | PAmIra | @iPd | papmed | A mR | XA |

AREEES1—) 16.8] 6] 7] 10.2] 7. 37| 2.2] [ 0.4 1.1] [ 0f




